PLANO

4 g spacer m4,/m5 4 l}}ﬁm capscrew m4ax12 al I}ﬁﬁm capscrew m8x16 pal N lock washer m4a
4 g spacer mB,/m8 4 I}m capscrew m4ax30 4 Ikm capscrew m8x40 4 N lock washer mb5
B8 :. plastic wall plug 10 mm d=10, L=50 4 l}mm capscrew m3Sx12 8 o washer m4 oversized 4 N lock washer mB6
S] mm hexagon head wood screw d=7, L=60 4 I}Ssm capscrew m5x30 8 o washer m5 oversized 4 N lock washer m8
pal =1 Allen key Smm, 4 mm A I}nm capscrew mBx12 8 o washer mMmB oversized

S mm, 8 mm 4 l}mm capscrew mMBx35 14 o washer m8




